Univariate analysis

Multivariable analysis

Comparison HR (95% CH) Pt HR (95% CI)t Pt

Age

=< 50vs >50 0.89 (0.69to0 1.16 p=0.3996 0.865@0 1.14) p=0.283865
Histological Grade

G2+ G3vs Gl 1.93 (1.37t0 2.73 p=8.702e-05 110389 to 1.93) p=0.374097
G3vs Gl + G2 1.45(1.11t0 1.90 0.65 (0.46 t@P.9

Estrogen receptor

status

positive vs negative| 0.75 (0.56to 1.01) p=0.05596 1.12 (0.80to 1.57) p=0.498064
Lymphome node

status

positive vs negative] 1.54 (1.12t02.13) p=0.007772 1.39 (0.99 t0 1.96) p=0.05691
Tumor size
>2cmvs=<2cm 1.92 (1.48t02.49) p=1.074e-06 64 11.24 to0 2.17) p=0.000479
fGSB
Glvs G3 1.53(1.35t01.74 p=1.309e-10 1.51 (10211.88) p=0.000320

T HR = hazard ratio for recurrence; Cl = confideimterval.
1 P. Value based on Cox regression.




